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  fy;tp mikr;R   
 

 

 

 
cw;gj;jpj; jpl;lk; 

  gFjp 1  

1.  
2.  
3.  
4.  
5.  
6.  
7.  
8.  
9.  
10.  
 

gFjp 2  

1) 1. cw;gj;jp nrad;Kiw   
2. cw;gj;jp epiyahd nrhj;J   
3. cw;gj;jpf; fpuak; 
4. myFf; fpuak; 

 

2) cw;gj;jp nrad;Kiwf;fhf kPz;Lk; kPz;Lk; ePz;l ehs; gad;gLj;Jk; fl;llk;> ,ae;jpuk;> 
cgfuzk;> vd;gd epiyahd nrhj;jhFk;. 
 

3)  
                       cw;ghj;jp fpuaf; $w;W 
cw;gj;jpf; fpuak; 
Neu; nghUs; -   gjg;gLj;jg;gl;l Jk;G 
Neu; $yp – nkj;ij ciw 
njhopw;rhiy Nke;jiy fpuak; 
kpd;rhuk; 
elg;G nryT 
,ae;jpuj; Nja;T 
cjtpahsu; rk;gsk; 
nkhj;j cw;gj;jpf; fpuak; 

&gh. 
250 000 
150 000 
60 000 

&gh. 
 
 

460 000 
 
 
 
 

 
30 000 

 
 

3 000 
4 000 
3 000 

20 000 

 490 000 
 

4) myF fpuak;  =         cw;gj;jpf; fpuak; 
cw;gj;jp myF 

   = 490 000 
                                              500 
 

   = &. 980 

Kaw;rpahz;ikf;fy;tp 
myF uPjpahd kPl;ly; nrayl;il tpilfs; 

juk; 11 
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